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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS
1 This Booklet has a cover [ this page } which should not be opened till the invigliator gives signal to
open it at the commencement of the examination. As soon as the signal is recelved you should tear
the right side of the booklet cover . carefully to open the booklet. Then proceed to answer the
questions.
This Question Booklet contains 200 questions.
Answer all questions. All questions carry equal marks.

The Test Booklet is printed in_four series e.g. or [7] (See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.
For example, if the candidate gets serigs booklet, he/she has to indicate in the side 2 of the
Answer Sheel with Blue or Black Ink Ball point pen as follows :

[A] (B ciip]

5. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name. Register No. and other particulars on side 1 of the Answer Sheet provided.
failing which your Answer Sheet will not be evaluated.

7. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encede properly or fail to
encode the above information. your Answer Sheet will not be evaluated.

8. Each guestion comprises four responses {A), (B), {C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet,

9. In the Answer Sheet there are four brackets [ A] [ B J{ C | and [ D | against each question. To

answer the quesilons you are to mark with Ball point pen ONLY ONE bracket of your choice for

each questlon. Select ocne response for each question in the Question Booklet and mark in the

Answer Sheet, If you mark more than one answer for one question, the answer will be treated as

wrong. e.g. If for any item. {(B) is the correct answer, you have to mark as follows :

Al tciiol

10.  You should not remeve or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

11.  The sheet before the last page of the Question Booklet can be used for Rough Work.

12.  Failure to comply with any of the ahove instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

13. For Question Nos. | to 100 in all matters and in cases of doubt. the English Version is fma]
14. Do not tick-mark or mark the answers in the Question Booklet.

| TAMIL VERSION OF INSTRUCTIONS IS PROVIDED ON THE BACK COVER OF THIS BOOKLET - ]
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A) . energy flow A B} food web
C) | production . D) decomposing.
2. dpssco ansdubses s
gy (A) : duaphu Gbdurald oiHe saflivd Clemensst Qsdbgerere.
sryewid (R) : duspu Gndurelle Hs ofiaerales Soureop whrbd mrrbw\
- uTenpaeT sremTiLfdleTne . - |
@eubpet
A) , (A) sf (R) o)
IB} (A) 8fl (R) @ sTrenom@d
) @j@b‘r@m &
D). @Uco'm@lh g,eu@.
Consider the following statements :
ASSe_Izrtion (A) : The mineral wealth of India is largely confined tc') the peninsular
India.
4 ‘Reason (R) : Peninsular India has enormous quantity of Igneous &
Metamorphic rocks.
Now ‘select your answer according to the coding scheme given below :
’ A,]' (A} is correct, but (R} is false
B) {A) is g';o.rrcct and (R} is one of the reasons
C) Both are correct
D) \TBoth are false.

3 ACSA

G ""@(Br,rmj];'r, Mlemev ( trophic level )} dellphal 20ss wCymis Heowdse obpe

DTDOLLROIGL onevoeerrerirrereemannenns 6renT Qm@&&ﬂu@eﬂl@g.
A)  Sbwé gL b B) o coiey e
C)  opusd D) Aesaypme.

. The transfer of energy from one trophic level to another level is called
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3. og sflure Qurmbdyererg: 2
A)  g&end pIoT —  OG@gmev gibens
B} Afllalyre nr@en —  shHuTsHTL
C)  prgparyhdle — OguCgean .
D) &s8arelhabd — &M .
Which of the following is correctly matched ?
A)  Tughlagnama —  Firoz Tughlaq ’
B) ' Prithviraj Raso — Chandbardai
C) Rajtarangini -  Jayadeva
D}  Gitagovinda —  Kalhana.
4. ‘BBOeucosm’ eresTLS
A} dlevongeueid B) #npCoaupsrd
C) ergflurn D) Q@s;ﬂs'uasmqg'.gm'r.
‘Thiruvekha' is
A)  Tindivanan | B)  Thiruverkadu | :
C)  Kanchipuram D)  Srivilliputhur.
5. a2és phodn ddudedlar dusasdders GCsdlu fh ocoud gHUESS ’-
Beuawor (i e Liflbgieny ey Sy emevonub erg ?
A} eflussenioliy L) 346 Iy esetonub
B) fiteurs Fidlihee 2 anesib
C) ygaspTd Wavgr gy eresmiusd
D)  Nuiammed oy emesnub.
Which commission had recommended to establish a National Judicial
Commission for appointment of judges of Supreme Court ?
A) Constitution Review Contunission
B) Administrative Reforms Commission -
C) Ranganath Mishra Commission
D) Liberhan Comimission. ’
x /
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10. (;-24 GTEBTLIG v.voverrencocmnsransenene GG SHpliy ewiy 441‘*%‘;;;,2 '
A)  UN B) G-77 -
C) UNCTAD D) UNDP. %m o
G-24 is a specialised body of T 4
A) ‘UN : | B) G-77 ! ‘:
C) UNCTAD D) UNDP. R
11. app sblesos sorssran sfle gaomols aifugos oty csisﬂa;r:aaés ;;rp(aw
el et seit G)eleum) 460 psslL@e st pes | : *g
A Capu@hsd semyume B) i e senyLLmes i
C) uGprlgé semliume sel D) swen Q&b &,ml;ruurr}o'ra:sfrg
A solvent in which various acids appear equally strong is known as *
A) differentiating solvent ﬁ] non-aqueou.s solvent ¥
C) pfotic solvent D) levelling solvent. . §
12. sHpHILge apseea WIS GRPUPESLsET 2 siorer 7 |
A2 D B) 3 L
c 4 ' D) 5. e
How many major harbours are there in Tamil 'Nadu ? L b
A2 o | | B 3 ‘
c) 4 D) 5. - '
13.  ‘wgeoy Blayen’ QBTLBSILIL SLETH ..o . a ,ﬁ : "
A} 1592 a B) 1600 )
C) 1601 | D) 1605.
The ‘Madura Misslon' was established in the year ' )
A) 1592 B) 1600
. C) 1601 ' D) 1605.



i*

o 5 ACSA

6. SuGamamaniGuraudlfla, GuGemidls Lenadilame sr&aslLRD &yl Bif

A)  wsCrm_Grmiesr B)  ou&ellCLrdles
Cx  aunGenlSiyéles _ D) o flereflesr.
What is the hormone produced by the basophilic cells of the adenohypophysis 2
A) Thyrotropin B)  Oxytocin
C)  Vasopressin D}  Adrenaline.
7. 6700-Ehg Hles GoDEsUL LTS ah aaumans & NssTd g eflurs 9-916
U@L D
A) 2 . By 3
C) 4 D) 5,

The least number which must be subtracted from 6700 to make it exactly
divisible by 9 is

A) 2 B) 3
Cy 4 , ' D) 5.
8. dpaco Coryaefile ahs o Cory s uflor cworiis aner QuHim&Hselaene 2
A GCeueme wpmid Hmiy eflens
B) Gamesr 2_haid bHoo Werri wrhled
C)  sawssThE HDD 2 B0
D) dleaws Seiusdnd whno elemeldlas Helysges.
Out of the fol!owing pairs, which one does not have identical dimensions ?

A)  Work and torque

B)  Angular momentum and Planck's constant
C) Impulse and momentum
Dj Moment of inertia and moment of force,

9. ahs wIHesHhEe e yrSucewninidar WaaTas L aumeniid (B&rruug,rp@
pei1Ly, “@levemr wrhleud” srscmp S{bBEVG QUPBSULL LGl ?

A) g wHED Hresnsi B) #&dld
C) Guererur . D) meomésa NyGseiy.

Which state had been given the status of "Associate State” before it was added to
the first Schedule of the Constitution ?

A)  Jammu & Kashmir B)  Sikkim .
C) Meghalaya D)  Arunachal Pradesh.

x [ Turn over™
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7
afgpamt_su[b@é? org IMF-er @grffyen_iw 2 agoTemn Sabhm 7
A)  @lg UNO-den gt svugmued e
Bl 2 ovaspdleyeien erhg BILgHE&D sL_6d1 euphigeunid
C) &m Briige wrhle gigs;&,@é:@ SLST GU|PEISHED
D) 2 miy prHsensE bl QGWw &L euphigib.
Which statement of the following is true for IMF ?
A) It is not an agency of UNO
B} It can grant loan to any country of thcrworld

) It can grant loans to state government of a country

ACSA

D) It grants lbans to only member countries. ‘.
SiaBeed @eoLblond  adalsLd  wrGeorw Lﬂg)g‘,g,@{:.r_sﬁ aﬁ\glrmﬂé:
SHEURIGULILL_GI ? o
A Quflurt B) e oeomemr
C)  smogmet D} e, & @mrme‘w‘gé]tj:'%r.
Universal secondary education is named after the birthday of "
A) Periyar ) B) Aringar Anna
C) Kamarajar D) M.G. Ramachandré;.
ot brsden wens BB (pouid &HaToTHSIL e | |
A @Qeoesdd aanasas B) daersmefie Grcsdmcwﬂé»ma
C) @ cueretuhisst D) wysdle 2 wylb.
.The age of a tree is determined by -
A) number of leaves B) number of branches
-C} annual rings D)  height of the tree.
euTRIGUT Tl S{EPSSLILRD LN TGl ?
A} sisT B)  #meiyewrm -
C)  Ayowysdyr D) Gargradl. -
Which river is known as Tsangpo ?
A) Ganga B) Krlshna p
C} Brahméputra D) .  Godavarl.

x . [ Tuirn over
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18.

19,

20.

21.

Qeuln Gussaluelles (e alldumrarsg

A)  Qewiup wrpTgy B) Qeuses wrprg

'C) | 2.hsh IDTE D} sy bmey wrmmey.

"The first law of thermodynamics is a statement of

A) Conservation of heat B)  Conservation of work
C) Conservation of momentum D) Conservation of energy.

1977 b &40 meoiaT HL_dlanw 2 Heurd@sales @b Quprg a8 erg 7
A urpdu Carsgenr B) @t shsb
C) QGemadlav. s d D) dlerer wevgri NygT sl 8.

Which one of the following parties. was not in the formation of Janata Party
in 1977 ?

A) Bharatiya Lokdal B) Jana Sangh
C) Socialist Party D) Kisan Mazdoor Praja Party.
Spaco ahs el Hrdlet bl S STTORNTHE! T

A) cuM&efr

'B) OQurs flnwueasees 2 ufl eumeuri

C} wrbp Cesaens
D) 2 6prl@ sLsiser nHpb aaniyser Sy,

Which one of the following sources is not considered 'as a source of good
revenue ?

A) Taxes

B} Surpluses of public enterprises

C) Transfer payments

D) Mobilization of internal loans and deposits.

SODBTLIG 6T (P & Sneml_ et alemhigld 2amt ergy ?

A) Npapen B) Qaeb

C) rGyr D) mrwésd.
The place known as egg basket of Tamil Nadu is

A}  Virudhunagar B) Salem

C) Erode D) Namakkal.

* {12002] oy
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23.

24.

25.
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e eupne JarCsHI L srGsrae aatry HMbHILIGsenTe aﬂmﬁ‘é\é&a&ﬁuﬁt_gj
oGl 7 .
A)  emeweT G B)  Gne shéeome

C)  Aflusy grasew D) . Sewéarene STEHEED.

‘Which of the following was criticised by Gandhiji as ‘Post-dated cheque’ ?

A) Simon Commission B) Nehru Report
C) Cripps Mission D)  Cabinet Mission.

Gyl el umh eelufd OemalCalu FWITT&HEH Falgw @c&u‘r@&mm suirflse
LUSTURSSUUGD 2 Mb 6160 YUSTET DTFTEO SHEOL @ebwtin L a..er'D g ?

A} Gorefub enpl.Cyl B) wfwr _

C)  opluraflud Gletreny® D) 0Gureflub unsiUo°o§§gﬁ..

The fertilizer chemical used in the making of roadside bomb, which was banned

by the Afghan Government is

A} Ammonium nitrate ' B) Urea

C} Ammonium chloride D) Ammonium phosphété.
shlppriigé Qbdu el Geust %Uﬁméﬂ Bipeusrsdler dijeu erfiClumet %ﬁNMéé]
WD yeonnhgeier @)L

A} gurydf B) esnadfl

C) psslendif] : D} wCspArd.

The location of Indian Space Research Organisation's { ISRG ) Ligquid Propulsion
System Centre in Tamil Nadu is h

A)  Kumaragiri B)  Sankagiri

C) Ratnagiri 7 D) Mahendragiri.
fppanaicurss Gossd Comllarad sl wri ?

A" udeeur g e B) Gempiieer

C) urre&om.mr'r&:sfr | D} Ganrraer.
Who built the Sittannavasal Cave temple ?

A)  Pallavas B) Cholas

C) Pandyas D) Cheras.

x [ Turn over
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26, uwlguwe I @ ulgwd I 2idén QurEsd. &Cp Qar@ssuul@eier Lwewr
Grsdlunseenyd preordlflurameayd Guenss oss GHUIRsme s Caras®
sflures efemowg Caip@a® :

uiquée I utgué I
uwesor @\evd Fluke o < & fwir & et

a)  dywresr @evédlubd

ot

. §. pTYE
b}  sllps arg . G&. Qs gum

2
¢} wCadur upee eeTLTauy 3. HONHTWS g &6l
4

d) [pred sevoT guuTes BemwGe
Gol@ser ;
a b c d
A1 2 3 4
B) 2 1 4 3
C) 4 3 2 1
D) 3 4 1 2.

Match List I (! Works of Travel ) with List IT ( Authors ) correctly and select your
answer using the codes given below :

List I List 1
Works on Travel ’ Authors
a) Pirayaana Elakkiam 1. G.T.Naidu

b}  Tamil Thoothu 2. A. K. Chettiar
¢}  Malaysia Muthal Kanadavaral 3. Thani Naayaga Adigal
~d} Naan Kanda Jappan 4. Somale.
Codes :
a b c d
A) 1 2 3 4
B} 2 1 4 3
C) 4 3 2 1
D 3 4 1 2

g
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27. Cadlu greugaiue yher Ge a{mmﬁjg}sﬁmg}
A)  sctge B)

C}  uretmgd) ‘ D).

National Botanical Garden is located In -

¢ ‘A)  Chandigarh B)

Ci Panaji D)

28. euelloain_egdlear @uéurer Qeuiu Guuy alflgh aarug

A) & CgeuQeurg 100 SLLpés B)

L& Gh.coed)

& Ceorr.

New Deihti

Lucknow.

ACSA

65° C geuGaurg 1000 Bl Gé@

C) I’ Cgearg 165 566 D) 1°CgaGang 111 S 5o,

The normal laﬁse rate of the atmosphere is
A)  4° C for every 100 metres
C)  1° C for every 165 metres D)

29.  Fpsacocuppen SEuflesr 8 wepewt upPu sfures by e 7

A)  gput @iy wangos efldemt

B)  gput yells vuer sufleow g8 Qedsrt

C) éur euflerw gzt

D)  uesT) waHHDG S sTeeRGSTT.

B) 6'5° C for every 1000 metres

1° C for every 111 metres.

Which of the following statements on the administration of Akbar‘was true ?

A} He encouraged child marriage B)
C) He imposed jizya tax

30. ofPuLL ercTena HXTSHHH :

3.10.42, 166 ,........
A} 600 B)
- Q) 666 D)

Find the missing number in the following :

3, 10, 42, 166, ........
A} 600 ‘ B)
C) 666 D)

He abolished pifgriin tax

460

5b5.

460

555.

#
D) He supported polygamy.

*{ Turn over
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31. Epsao_cupniet amplur weeeRdr eurafiusused eTg ?

A)  Gamgme B)  &medlumisid

C)  amglnm D) QuresghssTGyr.

Which among the following was Harappan trading centre ?

A)  Lothal B}  Kalibanga

C) Hérappa ' D) Mohenjodaro.
32. sflpasdle fm_@mrrbﬁsmm T(REHMBDEG LLUSTURSSLIUL L aW&e

A)  Qaen Spmb B}  Spmb

C)  Hypad D)  dgred.

Which script was used to write ‘Vadamozht' in Tamil Nadu ?

A) South Brahmi B) Brahmi

C) Kranti D)}  Prachi.

33. SpbocuL eunsduniscens seue :

dnibny () ;. soanusder arheiaTdr S psaeidr B-Qedae Geiaameans
&6

ssbm! (1) . aoawsSdT erhsterdt S.Osseldar a-Gshss GEHEHTmT
s7&ElDs).

@OJI;D@_[GTT :

A)  embmset (I whHpd (1) GreanGGw &
B)  gabmiss (1) whmd (II) GyesorGGw seuny
C)  &bm () &f), ey (1) Beumy

D) aapm () seuyy sabHmy (1) af.

Consider the following statements :

Statement (I): In pancreas, Insulin is secreted by f-cells of islets of
Langerhans.

Statement (II) : In pancreas, Glucagon is separated by a-cells of islets of
Langerhans.

Now select your answer according to the coding scheme given helow :
A) Both the statements are true

B) Both the statements are false

C) Statement (1) is true, but Statement (I} is false

D) Statement (I} is false, but Statement (1} is true.

x [12002]
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35.

36.

37.

13 ACSA
@idlu oyHuceoinier, yéles su@&m'_@fn QBBIpermest. & e 6ToH_neLHEDHSIT;
Ul surs 2 aenssl GubDaaILTGD | _
4A) sgflay gyuye oyduemannliy B) 0Quwfss syydhussemniiy
c @iflenbg oyySweveniotiy D) ,gi;,a?ué,]@geﬂwrf 37 Hlwevenioti.

The Directive Principles of State Policy of the Constitution of India were mostly
influenced by

A) The Constituﬁon of the Irish Republic -
B) Tﬁe Constitution of the United States of America
C}  The Constitution of thé UK

D)  The Constitution of the Australia.

wryl Qurdusysarer ppebian smal

A)  QuEGDHIT B) Oprdasar
C) Qanssaursd) Gue@bit D) &Lgdleel.

The molecular tool for Genetic Engineering is

A) Hormones B) Enzymes

) Pheromones D)  Vectors.
QeusflLmrs yereMNaleurh erhig 2-LBuTratu@sslu@sing ?

A)  Gue Hlered sweTUTHS 6 B) @pae Bleoe elleunid
c @y Hleven afleunid D) L Slevssid.
Unpublished data are used in

A) non:nai equations B) primary data _
C) secondary data D) standard dcviatfgn.

ang eymef wpesr epuiusseme ( yerealouysdler adme bHlyser ) dlad
urdhléasiuBElng o

A wsh B) @eordlene

C) Qumpsesé symef D) &l @& symef.
Which average is affected most by extreme observations ?

A) Mode B) Median

C) Geometric mean D)  Arithmetic mean.

x { Turn over
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38.

aflemaaeir eruQUTpgId CeomgsenTaGou GB&ED aTadID Wig ey GHGED el
A) Byl efer @geond el B) dlylLailar (pad alld)
C) L eahear apedrprin ald . D) sroSwerel updu Byl Lt ald).
Forces always exist in pairs which was t‘he‘ result of
A) Newton's second law
B) Néwton's first law
C) - Newton's third law
D) ' Newton's law of universal gravitation.
39. gpfud ooy 1240 sl Gfaldas fp £Cp  smpiul@sieneupdie g
Q@rLiyeL g 7 ' '
A)  Spaw wipdAlean sflamyhser B) opflué el _orbry gpeon
C) @hsw 2 55 BEeT D D) Jysw widh Gaie gpeon.
Article 124 of the Constitution deals with |
A) the powers of the Prime Ministers
B) the amendment procedure
C) the Supreme Court of India
D) the eléction of the Prime Minister.
40. zLdE Qusssang Qs mhdlusurt |
A) wEwLE e ' B) Geass e
C} e&mr;tﬂ BB HST D) Quererenr giid HeTh 8TE. .
Tablig movement was started by
A) Mohammed Ali B)  Shaukat Ali
. C) . Swami Shraddhananda D) Maulana Abul Kalam Azad.
41, Qemgub sriuGearl ffld sarss HloLseh sapsdd aramuulay
A) sfleg gereown |
B} &My seteown
C) QoG bdp BB Gebien
D}  eywed whnid &TFD @mmrﬁgg GEBTENLD .
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An agueous sclution of sodium carbonate ic

A) acidic B)  basic
C) neutral - D)} amphoteric.
42. @pdurelle dle wadunrer auraslubsr el ereTLg
A) OG0T WETETL_Gv LIS elomDird & {He ef
B)  2UGTT IDGTITL_60 DT -LIG 60D IDMDITSH ST (RS eT
C)  juesr wetila Geeudlt ar{sen
) D) aadlllemend sr@oer.
The most imporiant commercial forests of India are
A) .- Tropical evergreen forests B}  Tropical semi-e\fefgféen forests
C) Tropical deciduous forests D)  Coniferous forests.
43. srays@ul  QUUBSD EBHWTEIDGD oo . Heb  @e-Cu
&0 &6 WSS TGl
A} Feorr B) 4Qus '
C)  undleugmest . D) Gpurenb.
The Tashkent declaration was signed between India and [
A)  China B)  Tibet ‘
C) Pakistan ' D) Nepal.
44. @pdureie Geaemremew eufl efifiiug Nsserarg gQeraile
A)  Pe 9_L_IGU)LD HEDOTET LITELGTE 2_6TeTSTe
B) 2 pupd upausTRbOSS STTHSE
Q) 2 aspdle ahs prRsaiand Ceuerreimenn cufl mﬁ]ﬂ&&»ﬁu@mﬁi&@m
D) aflafduugharer spdue  aSeliulbdrew  whHmd el g;@@a‘ﬂuu¢@5nm
Cuénl L Qeeey feLTE GHHS0.
Agricultural taxation in India is difficult because of
A) scatté;gd:-nature of lahd holding
B) seasonality of production ‘
C})  the fact that agﬂculture is not taxed anywhere tn the world{
D)  Increasing overhead cost of tax collection and the lack of pciiitica‘l will.
x _ { Turn over
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45. sreafleasiu@sss :
L ewpedimmid mﬁ_l_(?amsmg WHTH
II. - EeTsblamemL
L. yeorF 2 L ebTing &emns
V. srpdl-girelen oL earug baos.
@leupmyeir :
A) 1, I, 1 wppd IV B) IV, I, I wpmm I
C) I, IV, Lopgib 1 D) IV, 1L Iopgd II.
Arrange in chronological o.rder :
I Third Round Table Conference
il. Communal Award
. Poona Pact
IvV. dGandhi-Irw'm Pact.
Of these
A) I, 11, Il and IV ' B) IV, II, llland 1
C) i1, IV. I and III D) IV, IIl, I and 1.
46. Ggélw dyrw Caueaeurittyy St SHDEG QuUIGHSTS Febm) T8 7
A) eI ETd gHuBGSslULL Sl b
B) dgrooyp Ceusmer sumbiiiysement Quilu syerallés e Geurs@oaig aeTug @) s
@rirasid
C)  @sdlsdarug Goawmabsrar el @ UGH LcTOTHEAD, HE UGS
SiTeoflwom &ayb m@rﬁj&ﬂu@fm '
D) s b g;irrgg,g,uu\_'-l_ G sdlamieagh, UPLEGK @@ LESEHSHGD W ED
Beuemen eumibiiyseoer siefledlearm spesipi. —

':_\;;_'-.
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Which of the following statements is not correct in the context of National

Rural Employment Programme ?

A) It is a centrally sponsored scheme

L]

B} It aims at creating larger avenues of employment for the rural poor

C) Under it wages are paid partly in cash and partly in foodérains

D) It provides employment opportunities only toc the members of " the

scheduled caste and scheduled tribe families.

47. wesor upPw LYEGD SPeShwe urtufley
A)  eelLrmeg B)
C) oowssTes D)
The study of soil science is
A) cytology B)

C) mycology D)

ST ' i

QuLrraugd.

phycology

pedology.

48. @by oo 5@9&5@6‘\) 2 aier  sagrilaeiisc  sblp déﬁlgé’; Guomflurs

P pestL@GSsiL eterg 7
A) 1970 B)

Q) 1981 D)

1968

2010.

4

When was Tamil introduced as an instructing language in Tamil Nadu colleges ?

A) 1976 B)

C) 1981 D} .

49. @Uss 2 OpBHmaD STETHD Gla6 DG 6T
‘A Heuliugmyseei B}
C) s(& Qedomen D)

Cells that initiate blood clotting is

A)  RBC " B)

C)  Thrombocytes : D)
x [12002) -

1968

2010.

GleueiTenemwigm & & 6

By GFsser.

WBC

Nerve cells.
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50. &l (U uesohument Ga it eurr s euomuid eI G 2 (HeUTHED Siflamgio
Qe aoTL_eu Qs T etoiLgy

Al Qb @yurs seveveurt

B) @bdlw uryrenuoetpd
C)  wsdu g{f)‘ér uesstlwmentt G ievum e esonuid
D)  wrfle oLEHpt.

Which among the following can' provide for the appointment of a Joint Public
Service Commission ?

A) President of India B)  Parliament of India

C) uUpPsC D)  State Governor.
51. &paesom_aubper gl ‘515\{9[5m;r.q.6&r SaoTly.” erelvny SeopdaliuGEpg 7

A) Geupryaoiub B) HponatGasd

C) sLgmi : D) weruellygb.

Which of the following was called as ‘Dandi of Tamil Nadu' ?

A) Vedaranyam B}  Thirunelveli

C}) Cuddalore D)  Mahabalipuram.
52. @Crmwe aaTaib 2 Cerssd swameauiles 2 erem (pdhdhubmer 2 Geursb

A)  ©Cymblwd B) plése

C) Guasets D)  gmblyd ( &mouf ),

The predominant element present in the alloy, Chromel is

A) Chromium ' B)  Nickel

C) Manganese | - D) Copper.
53. 1 &G el cocrirveererrenne UL SHEHHGE &100.

A) 1000 B) 1042

C) 1024 D) 1001.

1 kB ( kilobyte ) is equal to .................... bytes.

A) 1000 B ' : B) 1042

c) 1024 D) 1001.

x [12002)
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c2oe ayerpiie Bs fam. sl Lsdessd GeUlbul, 1976-6 Qeueflil il

Bwssd o
A) 38 sugl . B) 40sug
C) 42 sug D) 44 qug).

The longest Amending Bill in the History of the World' is ‘the ..............
Amendment in September, 1976.

A)  38th B)  40th

C) 42nd D)  44th.
et @ euen eHeSEND erebTLIg)

A) sl HHDeID, HHeweEsh

B} sanPursefler Submepld Sguseuepd

C) saflurt epeugeord _

D) Powuensdler 2 srer syemerpal 2anflutaefiesn Lessr oL
Human capital refers to

A) people abilities and skills

B)  experience and efficiency of employees

C) money invested by individuals

D) total money value of human beings in an organisation. B "

utguéd I-& 2 efer SBpPHICIRET LpeeussT sraTTowLRGmeT Lgue II-6 2 e
Qe s8sr®  opet  LralL oy Ouresd, &GP CeTRE&sUULReTer
ehliGswmers Qaran® sfurer alloows Carbs® @ - ' :

utgwe I uliqwe M- -
( 3OPBICIged Upanaus el &7 esorrewd ) (@@uid )
a) Geu Lergly 1. G‘}UUEDL_@;JTI'T
ONEYCU 2. #GyTG
¢c) &bl 3 é‘@mrrr_rbl;r
d)  QeusianGai® 4. Aausios
efpser :
a b c d -
| A) 2 1 3 4
B) 4 3 1 2
C) 3 4 2 , 3 -
D) 1 2 3 4.

x s { Turn over
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57.

Matich Tamil Nadu Bird Sanctuary locations in List 1 with their districts i

List II correctly and select your answer using the codes given below :

List I : List II
( Tamil Nadu Birds Sanctuary ) { Location )
a) Vettangudi 1. Perambalur
b} Vaduvoor 2 Erode
¢} Karaivetti 3. Tiruvarur
d} Vellavedu 4 Sivagangai.
Codes :
a b c d
A) 2 1 3 4
B) 4 3 1 2
cC} 3 4 2 3
D} 1 2 3 4.

@pduraler ebs wrhled GwibussTs 2-Hugdde waralme sudladsipg 2
A)  BEpTL&T B) gflevenr

C) gL 1g et ' D} Gameur.

Which state ranks first in the Iron ore production in India ?

A) Karnataka B) Orissa

C) Chhattisgarh D) Goa.

QibdluTaEpsaTs 1940-60 QLeevl DISD HGTH HH. BaTGlaranl  euphdu

@bSIu emeudogmis
Ay fauss Sy B) erafinm Sy
C) a&rgen 1y D) Sleaala@ar Moy.

The August offer was made to the Indians in August 1940 by which of the
following Viceroys of India ? |

A) Lord Ripon B) Lord Canning

-C) Lord Curzon D-) Lord Linlithgow.

x [12002)
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59. | shdien 88 aep Quut wrepsefug 2
A)  waerd wlahdlyeutios B) g‘tblﬂhﬁ]dﬁd@] -

C)  myélbweautoes D) epesiprd gggbglmr'rmei;.
Who is called Sankyrna Sathi ? | |
A) Mahendravarman I B}  Simha Vishnu

C) Narasimhavarman D}  Nandivarman IIL E:'

60. ypUQUTEHET GleuEOTLITDT Ny &TEbTD @Tgués@ APSUHITGY 6Tl 7 A

A)  uebtelgp LL.evd B) Qeueorum um_'_r.gu.u;s'»
C) Qsréaruiub ‘ D) Qeuctorindloremen.
The original text of the book "Purapporul Venba Maalai” is

A) Panniru Padalam B) Venbaap Paattiyal
C) Tholkaappiyam D) Venmathi Maalai.

61, 1986-b Syeoi( 5@;_;3&5 sl Qoo &oewsaludb GUTH HBHT SoONTS
@\ hHeutt wrr 2
A}  C.P. éppys B) P.V.@Qsfwen
C) . Qur. Hasgsreod D) P H. urreo%nq.mﬁr.

Who was the Chairman of Tamil Nadu Legislative Council when it was abolished
in 1986 ?

Al C. P. Chitrarasu B) P. V. Chertyan H

C} M. P. Sivaganam : D) P. H. Pandiyan.

62. B Cpryss Ceralhe @buy wIeweTHeT HObH @&rrafun..él@-.’;' Qe Oubp
praveiset aaaismeb, Seuisdt Qubp BEIGUTTHED S| L_suemeoorilley
Qer@éaliu’ Gereng. mbug wrewwuisshar errsf wuGlues  4:25 erafle,
Gairelér eubp Qupre wraseufsafiet agrerfl wHlUGLe wre 2 |
LHIQ LT BT 4 5 6 7 8 9
Qeuhdl Qubm wTewauTaeT aTeoTaliGeansd: 5 10 8 4 2 1
A} 2-705 B) 2-750
c) 2:075 ' Dy 2:507.
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Fifty students appeared for an interview. Number of successful students and

their marks are given below :
Marks : 4 5 6 7 8 9
No. of successful students : 5 10 8 4 2 i

If the average marks for the fifty students was 4-25, the average marks of the
students failed is : ‘

A} 2705 B) 2:750
C} 2075 D) 2:507.

63. 1 @as 2n el 2 ater 2n @ue eretotsefler aymef]

A) n+l B) 2n +1
2 2
- n(n +1) D) n(2n + 1).
2 2

The average of 2n natural numbers from 1 to 2n is

n+l 2n +1
A) ) B) )
o) n{n + 1) D) n(2n + 1).
2 2

64. e gRd G@ENQ abhs Careaamailear sugluamiulé a{eéamrjggleﬁerrgl ?
A sEgmibem terey B}  omésm & eeoiey
C)  o@mbsm eflse D) Geaudwe alenase,
The hydrogen bomb is based on the principie of
A} Nuclear fission ‘B) Nuclear fusion
C) Nuclear combustion D) Chemical reactions,

65. Q&é Uflgeme greso@in anmiGiomes

A)  oselle Bl el Curanseallesn

C) LGy D) edeSen. '
Hormonc which stimulates cell division is

A)  Auxin B) Cytokinin

Ci Gibberellin D) Ethylene.

x {12002
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‘ 66. wigwé I e ulgud II 2 Ler Gurmpsdl, SGY @&W@&&DLJL@Q’TG&J" GHEH & e
Qanreor@ #furer aflaLaws Carpbla®
urigqué I U ig wee IX A
{ gy p&ear ) (‘tﬂmmmnyﬁqﬁ ) *‘.,'
a) dmeyemnr 1. sbué : § %
: b}  AylwysdHyr , 2. @bdlymeud l' :
¢} Gergraulfl : 3. geoLm t 5 'il
d)  wopesn _ 4. o, : |
ol Eser : ¥ S
a b c d s ;o
A) 4 3 1 2 |
', B) 3 4 1 2 ;
Q) 4 3 2 1 :
D) 3 4 2 1. - o S
Match List 1 with List 1I correctly and select your answer using the 'cédeéﬁgiver;
. below : ‘ | :
List I List II
( Rivers ) ( Their Tributaries )
" a) Krishna 1. Chambal PR

b} Brahmaputra 2. Indravati .
¢) Goedavari 3. Tista |
d} Yamuna 4. Bhima.
Codes :
a b c d
A) 4 3 1 2
B) 3 4 1 2
c 4 3 2 1 oy
D)y 3 4 2 1 :

x [401] [ Turn over
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67.

68.

69.

70.

fibg) oo spfler wraremhsnen @HEW Syye sl Lug gHURSBULLL g
A) 1909 B) 1919

C) 1935 D) 1947.

The provinces of Sindhu and Orissa were created by the Act of

A} 1908 B) 1919

C) 1935 D) 1947,

2 &Gt sl smd Ceud wry 2

A)  Gempiare dymogomu ubh B) QGegteeflar 8 ubh

C)  umevorgwi & uhl : D) udeearsre saeset ubb.

The message of the Uthiramerur inscription is

A) Cholar Kala Kirama Sabai B) Serarkalin Atchi Patri

C)  Pandiyar Atchi Patri D)  Pallavar Kala Kaligal Patri.

gl prHmig 6 @gumcmxf THHODT WD  GRUTHS SeveweuT 8l

G\&Mmmgt;‘(aaﬁsngm ' ' '
]

A gowon ' B) Queau@® e

C) ELPESTMY (LpemM D) ) BTG (PEOD.

How many times was the “President rule” imposed in Tamil Nadu ?

A) Once B) Twice

C)  Thrice D)  Four times.

@ITss Seuamisseile spmedl eurprme

A} 20 - 120 prtaef B) 30 - 240 prisen

C) 10 - 100 prlsef D} 2 - 20 priss.

The average life span of Erythrocytes is

A)  20- 120 days - B) 30-240days

C) 10 - 100 days D} 2~ 20 days.

x (12002 ] (407
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71, © o@ Hifeurssde 2wt sdsrf. 2 ar &) valiufiyd gorer Hirars Coemeseaer
afsrwres weopda QeudnTi ereimmes 6§ eresies Qebeurds 7 ;
A) gsm‘susmm SeeLas Sdld anpullGeurls
B)  sputssiib aGipgs Cleraell eatGanhmd sirgrionp Qs et g T
C)  swuoy sharedlsors Goumellen @mba Based
D)  pueny edlofeaid Calsd.

You are a senior officer in an organisation. The staff working ‘under you are

doing the office work in a clumsy way. What will you do ? >
Ai You will report to the Head Office

B) Yo.u will tell them and ask them to show improvement

C) You will suspend them

D)  You will start ‘criticising them:.

72. Gasrals eOi® 2 eter @)L sdles 2 effen eradmenant aeorBiiig&eaayd

1 4 ?
4 2 5
2 2 3
49 64 169
A) 3 B) 6
) 5 D) 4.
Find the number in the place of question ( ? ) mark :
1 4 ?
4 2 5
2 2 3
49 64 169
A) 3 B) 6
Cr b D 4.

x (12002
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73.  ufloremnbléer geralfee
A} o Gdeme omGurgd B)  auGumgid 2o 2o
C) SE GlhsHerDd D) @eubmuer ergaudleoane.
A dimensionless quantity
A) never has a unit B) always has a unit
C) ma}'r have a unit ‘ D}  does not exist.
74. wrfle el L Coaeeal 2 puillaiE&are GoDhHeUL s QWS
A) 60 cuug) B) 50 euws
C) 30 suwugy D) 18 auwgy.

Minimum age limnit to be a member of State Upper House is

A) 60 years B) 50 years
C) 30 years D) 18 years,
75, ‘Syely QBT QUPHG .o ‘2 e QG TLTem_Wg.
Al sEfliyt ed) eupse B) Wyl sd eupse
C)  #nonaGaed edl aupss D) et &g apse.

‘Ash Murder Case’ was associated with
A) Alipur conspiracy case B) Meerut conspiracy case
C) Thirunelveli conspiracy case D) Lahore consl')iracy case.
76.  srpoileusamen 2 Lenqurs frusts Qarerer uwsTu@D Ceudhl QurmeT g 2
A)  Gemgqub gévseemin’ B) Gemguwid sriuGer
C} Geamgqub enpllemgi. D) Qergud emel..
Which chemical is used to expand ‘air bags’ instantaneously ?
A) Sodium sulphi;ie B} Sodium carbonate
C) Sodium nitride D}  Sodium azide.
77. e subpler g aseuGurihidr Gewndur (G CwearQurGerTEn
Al MS-gy5%ifen | B)  eflesmGLmev-srdeul]

C)  gdlen D) Lmedl.

x [12002]
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....... e IS AN example nof an operating syétem. ”‘;‘JE
A) - MS-Office ‘ B) Windows-XP %
C) Oracle | D)  Tally. .
‘GTHET-eTUT eTediug) o Hepi o T T e weE 7 i "
A) - @yremeud B) &dal Hneuend q’gh
C)  IDHGHEEUDEDIEDT D)  eumeum gevp. ‘ "
‘Darul-Shafa’ was related with ?
A)  Ammy B) Educational Institutid;rflg.}
C) Hospital . D)+ Revenue Department.? ? .
sl gl ereius &

. I h

A)  w&EE_D esaab 2 afer CHTLE + eow euidldled emauly + bl ekl

d

sy Fg) e
Bl aidl shsdllb meudad Qareiepd sHriy B : E
C) evow eumdldler sniy Bl
D) w&seilLb engeush 2 eiter GHIC. o
Reserve money i.s i h
A) currency with public + deposits with RBI + cash reserves of bar;:ljis
B) casﬁ reserves kept by banks with themselves i%?\‘ *
C) cash reserves with the RBI ;é*
D) currency with the public. kj
BUBBTDY wvoeerrereessereerernns QuwrQubp Gl wrigb. “] "
A)  OuGrredub . | B) flegea ‘E,
C) HIHD &&8) D) Shisib.
Kayathar is famous for ,&ét -
A) Petroleu;n B) Coal ! r !
C) Wind energy ‘D) Gold. 5 |

i
¥

. ! 1 ,I ,ﬂ&: a g;;:
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81. &) Qar@esiul @erarauphies epa @rdudm soaaimée 2010-6 EBTHPTESI® afigpr

meoL CLbme;?
A) g J gmoemf Gy B}  @m. QeubssL gmnes
C)  euryemd Grem D) 8. suliywesiiub.

Which Tamil political per§onality's centenary celebration was held in 2010 ?
A) O. P. Ramaswamy Reddy B) R. Venkataraman
C) Kumaraswami Raja D) C. Subramaniyam.
82. 2010 syb oyewogherer Qurgeflugibsnes Cwrud ufldlenar agsemen Gui
URIEN & Qe miTesT 7
A) 2 | B) 3
c) 4 D) g@ear LD Qubmori.
How many economists share Nobel Prize in Economics for the year 2010 ?
A) 2 _ B) 3
C) 4 D)  Only one person got it.
83. gumder 2 edlCGeBuw e 2 wiymen Lieh areblun’ sl gL sdlesr 2 wyb
A) 729 Siiaet B) 828l sl
C) 927 B Liteel D) 875l Lir&el.
The height of the tallest building ‘Burj Khalifa' in Dubai is
A) 729 metreé ‘ B) 828 metres
C) 927 metres D) 875 metres.
- 84.  apsey &I eFemTTeIWD, 2 udléy eI SEOLhHSIETETE 7
A)  uerel B) &Qumar
c)  Bumh D) oL ed.
The first shark sanctuary in the world is
A) Palau B} Samosa

C) Miami D)  Kingston,

x [12002]]
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85. Qamevr ferald ipad Cluess gmn@ué\mwmg @g;ﬁrj;@g,@é:&uuu,_éu# w7

86.

87.

88.

x '

. .
A) g glarfléveor B) wrigenn Gaemen ‘

C)  Qamees Hlermis : D) wrraQyl eme.
Who has been elected as the first woman President of Costa Rica ?

A) Laura Chinchilla B) Martina Cole

C)  Helen Clark D) Margaret Chan. :

2 w&HE GHNIE G Flemore s ULlg&SHIUED BreT gl ?

A} g 25-b prel B} gOen 15-b et .
C). gOetn 5 pret D) gO@e 15-b mrer.
Which day is considered as World Environment Day ?

A)  25th June ' B) . 15th June

C)  5th June | | - D) 15th July. .
2010 b gy ewonged 2 e grmshHifl alGanst Qubpeant wrr 2

A)  Geraflur empdl | B) wenGures flu

C}  u. zﬂgﬁbugb D) 8. . gmoe,

Who got the World Statesman Award for the year 2010 ?

‘A) Sonia Gandhi B}  Manmohan Singh ;}
C)  P. Chidambaram '~ D} C.V.Raman. |
12-6ugl QgpeTdlu elamerwrl QU Gurig st pLés B hHED @b .
Al ys Glleuel B} femsr O
C)  Grurend D) urdléusmest,

The host place of 12th South Asian Federation Games is
A) New Delhi B) Sri Lanka

C) Nepal D)  Pakistan.

'l Turn over
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89. Gurmfl Qewupheneslaer-2 GJ’Q_Eﬂ‘JLiL'._I.., 151105 ST
A) 23 Qe ipur, 2009 B) 23 o&Guiruit, 2010
C) 20 QgL put, 2009 D) 25 g&GLrurr, 2009.
OCEANSAT-2 was launched on
A)  23rd Scptember, 2009 B)  23rd October, 2010.
C) 20th September, 2009 D} - 25th October, 2009.
90. uageufl, 2010-60 Aedller gt yelwudlisdulerr syerey ( fléLT ereyCamellen )
A) 6-8 B) ']7-8
C) 88 D) &0
The magnitude of Chilean earthquake with occurred on February, 2010 was
A) 6-8 in Richter scale B) 7-8 in Riclhter scale

C) _8-8 in Richter scale D) 8-0 in Richter scale.

g9l. @phdu Cadlu Hatansdlive oSlen Gurhieau’ Gerer ‘ssu Cua GouCs' eedm
urgebd crdlellmbel aTHHSIUCL g 2

A) Mg Geusld B) usep Sy
C) epu Gergeva D) (PeoTL & 2 UHESD.

Where the motte ‘Salyameva Jayate' inscribed below the Indian National

Emblem is taken from ?

A) Rig Veda B) Bhagwadgita

C} My Experiment With Truth D) Mundaka Upanishad.
92. 2010 gy yeongé, ydlarsdharer Ydlleir allpengl QubDeurt wri 2

A)  J. K. Qrenevlds . B)  smphsdl gl

C)  umév eunirriig iy D}  @eyeuns Sl

Who was awarded ‘Pulitzer Prize for Fiction’ in 2010 ?

A) J. K. Rowling B}  Arundhati Roy

C) Paul Harding ' D)  Kushwant Singh.

x [12002 . [a0§)
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93. Uy, 2010-6 el QeulLIDWLTEHH GHSSTEHEG "6 eve Wbl” g_;i_ﬁsg_@;__lb
A) @irj)‘t_ﬁuﬂr B) Qurellelwr |
C) @pumenbd D}  eveooTi_ébr.

Global Warming Summit “Mother Earth” has been conducted ~during
April, 2010 in '

A)  India B) Bolivia
)~ Nepal D) London, .

94. @hglurals fle Benwrer sLCenrl ugdlew Qeresi wrhleub srgj,‘l:{

A)  emITE B)  sbflppr® T
C)  Gayenr : D) eyndly NpGgen. .
The Indian state that has the longest coastline is ri‘
A} Gujarat B)  Tamil Nadu
C)  Kerala D) Andhra Pradesh. ﬁ. ’
95. gupe 26, 2010-6v eretorQaoor sdley bl @b

A)  Gw&AGam cumengLm B) Gurseiur auener@rim
C) LDEGTEBITT LI 61T (GHL_IT D) &l& euemaem@L.m.

+

The oil spill occurred in April 26. 2010 in

A) Gulf of Mexico B) Gulf of Bothnia

C)  Gulf of Mannar " D) Guif of Kachchh.
96. all.@&sreuce Byrhe elGalsasiul.L Burenofss é;zsrgbmu& @uccrmu;_cso‘ﬂ

A)  gduor B}  iflem |

C}  oui-g-&) D)  @Cemmflur ev@eum.

The Pro-Democracy leader of Myanmar who [reed from house arrest is
'

A} Dilma | . B) Jimena »
C)  Aung Su-kyi D) Gloria Stuart.
x ) {yTurn over
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97. 26 geoaufl, 2010 &b Hgen, @bduralear 61-wug ©uurs dHearalpraid
va@app Hpliy elmphdlent wri 2
A} Curmewh uGerr B) ugmd gpumom
C)  somigy yely D} & L&u&—u&éa.
Who was the Chief Guest of India’s 61st Republic day on 26th January, 2010 ?
A) Tony Blair B) Barack Obama
C) George Bush D) Lee Myung-Bak.

98. @hdlu sLedld glire, 2010-6r 2 HEUTET LT WESHTL 0 GDTeUeT&HE ereden Guwrr 2
A g B) Ulgiled
C) asfein D) &b,

What is the name of the Tropical Cyclone which originated in Indian Ocean on
April, 2010 ?

A) Jal B)  Bijli
C) Katrina ' D)  Agni.

99. @hdu QeupessGarer uerell aleughsemer 9. . BT. olaGlusill (e
LueTUGSSI0BHHTS ghull. ISRO-NASA uubsh E)bs Hrefie & ebwpssTer g

A) 20 meuburt, 2009 B) 20 g&GLrui, 2009
C) 10 peuibLrt, 2009 D) 15 meubuit, 2009.

The ISRO-NASA pact was signed for the use of data from Indian satellite for
US Space Agency on ' '

A) 20th November, 2009 B) 20th QOctober, 2009

C) 10th November, 2009 D) 15th November, 2009,
100. 2010-6 Gpdlu Coiras Bymaviusbdler, Sy eauyTs Hubésiul Lar wrt 2

A)  smevgifl B) amnflersi Syowr

C)  sbud | ‘ D) Syeder @,

Who was nominated as Election Commissioner to the Election Commission of -
India in 2010 ?

A) Sastri B) Harishankar Brahma

C) Sampath D) Praveen Kumar.

x[12002] -
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101. Match the following words given in Column A with their meaninglg%iﬁColi.’;%n B

and select the correct answer from the codes given below :

a)

b}

c)

d)

Codes :
A)
'B)
C)
D)

T & R N

Column A
bewilderment
wild
indelible
{ranquﬂly

b c
2 3
4 1
4 1
3 4

3
2

1.

(=

e N

i

Column B
unforgettable
peacefully
confusion

ferocious,

102. Match the following words given in Column A with their meanings:"&-'ifl Column B

and select the correct answer from the codes given below :

a
b}
¢}
d)
Codes :
a
A 4
B) 3
c) 2
D)y 1

 [12002]

Column A
spread
trembling
resolve

blemish

-

Column B
shivering
fault
extend

decide.
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103. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B

a)  hamlet 1.  untidy

b) oasis 2. narrow openings

c) tousled 3.  small village

d) crevices 4. fertile spot in desert.
Codes :

a b c d
A) 1 4 2 3.
B} 4 3 2 1
c 2 1 3 4

D 3 4 1 2.

104. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) woods 1. a small forest
b) perplexed 2. weapons
) celebrity 3. confused
d} armaments 4. famous person.
Codes :

A) 1 3 4 2
B) 2 1 3 4
o 1 3 2 4
D} 1 2 3 4

a



*}

105,

106.

107.

108.
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Match the following words given in Column A with their meanings.in Column B
and select the correct answer from the codes given below :

Column A ' Column B

a)  unique 1. for a special purpose.

b} deluxe 2. good-bye

c) adieu . 3. of luxury

d) ad hoc 4. special.
Codes : :

a b c d
A3 a4 2 1 i
B 4 3 2 1 ¥
9 4 3 1 2
D2 3 4 1.

Choose the correct synonym for the italicized word :

Computers generate reports on the cost of products inflation and negOUations of

prices.
A)  dilate B) swollen
C)  increase of price D)  alter.

Choose the correct synaonym for the italicized word :

The learning capacity is unique to man.

A)  artificial B} special

C) | inactive D) dull *
Choose the correct synonym for the italicized word : |
He admired the mountain viéws.

A)  looked B) saw

C}  praised D) glanced.

«[12002] o { Turm over
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109. Choose the correct synonym for the italicized word :

110.

111.

112,

113.

114.

115.

The game has a glorious past in India.

A) great _ B) invisible
C) strange ' D) famous.-
Choose the correct synonym for the itaiicized word :
Thin but wiry, Mcohan had one great passion — cooking.
A) permanent B) strong

C) healthy D) weak.
Choose the correct antonym for the italicized word :

He recollected his childhood days.

A) remembered B) collected
C) forgot D} revived.
Choose the correct antonym for the italicized word :
Detective Sambu was puzzled.

A)  surprised ' B} clarified
C) shocke(i D) .confused.
Choose the correct antonym for the italicized word :

The term ‘multimedia’ has a wide application.

A) broad : B) large

C) narrow D) enormous,
Choose the correct antonym for the italicized word :

The gang was busy.

A) lazy B) active

) quick D) bold.
Choose the correct antonym for the italicized word :

I think travelling by car is one of the best ways of seeing the country.

A  bad B) better
C) worst D) good.

[T2002 ) 01
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116,

117,

118.

119.

120.

121.

122,

123.

37 ACSA
Select the word with correct prefix :
A) Submarine B)  Subtrue
C) Subwork | D) Subconnect. .
Select the word with correct prefix :
A) Foretaste B) Forenoon
C} . Forchousc D)  Forechild.
Sclect the word with correct prefix :
A) - angry _ B) antinational o
C) antidanger D)  anger, .
Select the word with correct suffix :
A) dukedom ‘ B) littlesome
C) placedom D) spelldom.
Select the word with correct suffix :
A) tighten B) men
C) educaten : D}  women.

Fill in the blank with the suitable article :

Sri Lankais ..............l island. : G

A) a B) the )
iEa

C) an D}  no article. 5

Fill in the blank with the suitable article :

..................... earth is a beautiful planet.

A An B A

C) The D) No article,

Fill in the blank with the suitable article :

Imet .......ooevvninnn. boy who was wearing a red shirt.
A} the B) a
C) an D)  no article. N
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124. Fill in the blank with the suitable article :

.................. road accident at Paris Corner was a horrible sight.
A)  The ‘ B) A
C) An D} No article.

125. Fill in the blank with the suitable article :

My friend is ..................... Indian.
‘Al a B) an
C) the D) no article.

126. Fill in the blank with the suitable preposition :

Thereisawall .....oovvvinnennn, the house and the tree.
A) under B) in
Q) between D) after.

127. Fill in the blank with the suitable preposition :

She travelled .......ccvvviianel, train to Delhi.
A) by B}  afier
C) before D) in.

128. Fill in the blank with the suitable preposition :

Hart killed the snake .....ccvevvievii a stick.
‘A) © with B) by
Cl . at ) over.

129. Fill in the blank with the suitable preposition :

Hemarried .................... money.
A) by ' B} for
C) to D} at.

130. Fill in the blank with the suitable preposition :

Ishalldoit ............ooicis pleasure.
A) at B) with
C} of D)  through.

x| 12002 | [ 201 ]



-.4_'%

131.

132.

133.

134.

135.

136.

137.
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Select the correct question tag :

Theéy haven't come yet, ...........oconneee, ?
A)  haven't they B)
C) can't they _ D)

Select the correct question tag :

Let's go to the beach, .................. ?
A) can't we B)
Cj don't we Dj

Select the correct question tag :

Some of them liked our idea, ...................0. ?
A) didn’t they ‘ B)
C) aren’t they D)

Select the correct question tag :

. Heliedtome, ....c..cvvenntnn. ?
A) did he B)
C) didn't he- Dj

Select the correct question tag :

Mala got her promotion, ...... errere ?
A)  hadn't she ' B)
C) won't she D)

Select the correct tense :

When ! werit to her house, she .................... .
A) is sleeping B)
C)  was sleeping D)

Select the correct tense :

My father ...... SOOI here for months.
A) is living B)
Q) have been living D)

o1

ACSA

have they

won't they.

shall we

can we.

do they
don't they. o i

‘hadn’t he

had he.

didn't she
did she.

"k i

i,

had been sleeping

has been sleeping.

A
:4-

R E
has been living ’

i
live.
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138. Select the correct tense :

We . Lhis letter a week ago.
A) receive B) will receive
C) would receive D) received.

139. Select the correct tense ;

They ...cccovveennnen. just finished the breakfast.
A) were : B) are
C) has D) have.

140. Name the correct tense form of the italicized words :
1 have read all the poems of Bharathi.
A) Past perfect B) Present perfect
C) Future perfect D}  Future perfect continuous.
141. Select the correct Active voice :
A) The child was knocked by a car
B) ‘Hamlet' was written by Shakespeare
C)  The picture has been painted by my uncle
D)  Thomson discovered the electrons.
142. Select the correct Passive voice :
A) Kumaran is making a kite
B)  You speak the truth always
C)  The manager will give you the tickel
D) A novel is being read by Mala.

143. Select the correct Voice of the verb from the options given :

The fees ...........oooieniii. by him.
A) are paid B) has been paid
C) paid D) s paying.

«| 12002 ] | 201 |
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146.
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149.

150.

151,
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Fill in the blank with the correct form of tense :

The streets .....c.coovevnerrinnnnn. by volunteers.
A) was swept B)  is swept
C) are being swept D}  will be sweeping.

Fill in the blank with the correct form of voice ;

His camera ....... eeerenesieaiie by his best friend.
A) steals B) was stolen
C) stole D} has stolen.

Fill in the blank with the suitable participle :

Given an apple, the boy stopped ...........cccveeennnen. .

A) tocry B) crying

C} is crying D} not crying.
Fill in the blank with the suitable participle :
........................ TV she forgot everything.

A) To watch B) Waich

C} Tobewatched D} Watching.
Fill in the blank with the suitable infinitive :

She wants him .......ccocooiniene her car.

A) drove B) driven

C) to drive D)  driving.
Fill in the blank with the suitable infinitive :

I hear SOIMEone .......c.o..ouvnenes on the staircase.

A) climb . B) toclimb
C) climbed D) ti‘lithbs.
Fill in thé blank with the suitable gerund :

Idontmind ..................o0. for 2 moment. -

A} waliting B} to wait

C) havi_ng walited D) am waiting.

ldentify the sentence patiern :

The children made the father happy.

A)  Svoa B) SVIODO
C) SvCo , . D} SVOC.

x l 12002 ! 401
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152. ldentify the sentence pattern :

We found the place dirty.

A) SVOA B) SV IG DO

C) SsvocC D} ~ SVCA.
153. Identify the sentence pattern :

She sent him a telegram immediately.

A) SVOCA B) SVIGCDGCA

C) SVOAA D} SVCAA.
154. ldentify the sentence pattern :

They sold me their house.

A) SVIODO B) SVC

C) SvVC D} SVOC.
155. Identify the sentence pattern :

Eagle soars high.

A)  SVA B} SVO

C}) SvC D) SV
156. Change the following verb into noun :

Create |

A) creating B) creation

C) created D) to create.
157. Change the following adjective into adverb :

Efficient

A)  efficiency B) efficiently

C) efficienting D} efficacy.
158. Change the following adjective into adverb form :

Final

A) finale B) finally

C) finality ) finalness.
+{ 12002

54



159,

160.

161.

162,

163.

164.

165.
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Change the fol]owihg noun into verb form : A
Ascent )
A)  ascend- B) assent '
C) ascending , D) assenting. ’
Change the following noun into verb : )
Subrmission
A) submitting B}  submit *
Ci submissing D)  submitier. o
Fill in the blank with a suilable homophéne : "
He takes after his .......c..ccoceee. : T," ;
A) matter : B) mutter , o
C}  mother D)} moter. ;
Fill in the blank with a suitable homophone : 5
The man asked his friend whether he could ..................... his unliz;)!:ellra,
A) borrow \ B) 5orough |
C) burrow D) brew.
Fill in the blank with a suitable homophone :
Sheworea ......cocvvuvannnn, of blue silk over a black dress.
A) " mantel . B) mantle
C) mettle S D} metal. ‘ ;
Fill in the blank with a suitable homophone : A
I am going to my grandmother’'s house fora .................. . | ?
A) weak B) week
C) wick D)  wig.
Fill in the blank with a suitable homophone :
The children enjoyed seeinga .................. in the zoo. !
A) bear B} beer 4
C.} bore D)  bare. o
E(-)_l_j PE [Tum “over
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166.

167.

168.

169.

170.

Comprehension :

If you have a chance to visit North India, do not miss to see the Taj Mahal, It is
beautiful in the bright sunshine as well as in the moonlight. It is considered to

be one of the wonders of the world. It was built by Shah Jahan in memory of his
beloved wife. It is on the bank of river Yamuna.

Where is Taj Mahal situated ?

A) - On ‘thé bank of river Kaveri

B}  On the bank of river Brahmaputra
C) On the bank of river Krishna

D)  On the bank of river Yamuna.
Comprehension :

Once a speeding car hit an old gentleman. The driver lifted the wounded man.
He comforted the gentleman saying that he was lucky. He said that the accident
had taken place in front of a doctor's house. Oh, | am the doctor cried the
wounded man.

Who is hit by a speeding car ?

A) Young gentleman B)  Driver
C) Doctor ' D}  Passer-by.
Comprehension :

Ostrich, the largest of living birds cannot fly. It may reach eight feet in height
and often weighs 300 pounds.

Ostrich is

A) weightless B) heightless
C) flightless D) lifeless.
Comprehension :

In the 12th Century, a scholar and poet named Kalhana Began writing the
history of Kashmir, wrote in verse, and in Sanskrit to produce the work called
Rajtarangini, which means 'River of Kings'.

Who started writing the History of Kashmir ?

A} Rajtarangini B) Jonaraja
C) Kalhana D)  Shri Vara.
Comprehension :

Scientists of the Indian Instituie of Astrophysics, Kavalur, have been conducting
research work on the Comet Yakutake to ascerlain ils content. They also make a
comparative study of it with other comets.

Scientists are studying the contents of
A) a star - B) acomet
C) a planet D)  a meteor.

« | 12002 |
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172,

173.
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175.
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177.

178.

179.

180.
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Select the correct sentence :
A) Are a lettelr written by you ? B}
C)  Will a letter written by you ? D)

Select the correct sentence :

A) [t is a nice day today, isn'tit ? B)
C) It is a nice day today, amn'tit? D)
Select the cc‘)rrectK sentence :

A) The flower smelling sweet B)
C)  The flower smell sweet D)
Select the correct sentence :

A) April {s the fourth month of the year.
B)  April is fourth month of year.

C) April is fourth month of the year.

D)  Apri! are fourth month of year.

Select the correct sentence :

Al I gave a hundred rupees note B)
C) I gave a hundred rupee note D)

Find out the error ;

ACSA

A

b

2
Were a letter written by you ?

Is a letter written'by you ?

It is a nice day today. wasn't it ?

It is a nice day today, hasn't it ?

The flower smells'sweet

The flower smell Sweetly.

R
o

I gave a hundreds rupee note

I gave a hundred rupee notes.

‘He joined an European University last year

A B C D

Find out the error : '

Rajan killed the snake by a stick
A B o) D '

Find out the error :

My mother said tome to  play
A B C D -

Find out the error :

Balan lost his trouser today
A B c D -

Find out the error :

Raghul is junior among all his friends
A B C D

{
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181.

182,

183.

184,

185.

186.

187.

188.

189.

Find the odd word { Noun ) :

A) - active . B) actively
C) activation D) activate.

Find the odd word ( Adverb ) :

A) special B) spedially

C) speciality D) specialjst.
.Find the odd word { Verh ) :

A) picker B) picketing

C) picket D) pick.

Find the odd word ( Adjective ) :

A) tube B)  tubercle

C) tubercular D)  tuberculosis.

Find the odd word ( Adjectlive ) :
A) operative B)  operand
C) operate [}) operation.

Select the correct plural form for the given word :

child
A) childs , B) childes
C) children D) child.
Select the correct plural form for the given word : |
passer-by
A) passer-bys B) passers-bys
C}  passers-by D) passer-by.
Select the correct plural form for the given word :
Goose
A) Gooses B) Geese
C) Geeses D) Goose.
Select the correct plural form for the given word :
crockery
A) crockeries B) crockerys
C} crockeris D)  crockery.
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195.
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Select the correct plural form for the given word :

thief
A) thiefls ' B) thiefses
C) thieves D) thieveses.

Identify the Compound sentence :

A) If he is at home I shall see him

B) Hurting his foot he stopped walking
) I have some duties to perform

D) It is cold so I shall wear a coat.

Identify the Complex sentence :

A} He saw the tiger and at once the hunter took his aim.

B]  As soon as he came home, he wrote a letter.
C}  He worked hard and so he completed the work.
D)  He had poor health and so he left the job.
Identify the Complex sentence :

A) Mohan was sick, so he stayed at home.

B} As Mohan was sick, he stayed at home.

C) Being sick. Mohan stayed at home.

D)  Mohan was sick and he stayed at home.
Identify the Simple sentence :

A) Opening his box, he took out his new shirt

B) He opened his box and took out his new shirt

C)  As he opened his box, he took out his new shirt

D)  Because he opened his box, he took out his new shirt.

ACSA

2

Which of the following endings is correct to form the correct simple sentence ?

They were defeated

A)  and lost their kingdom B)  although they fought ..bravely

C)  in no time ' D)  though they fought bravely.

« [ 12002 |
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186. ldentify the Positive degree :

¥

A)
B)
C)

D)

Climbing down the hill is not so difficult as climbing up
Alexander was not greater than Porus in valour

Cotton is rougher than linen

Pink is the most attractive colour.

197. Identify the Comparative degree :

_A)
B)
C)

D)

Reena is not the tallest girl in the class.
Geeta is not so tall as Rita
Geeta is taller than Sita

Very few girls are as tall as Geeta.

198. ldentify the degree :

Mangalore is cooler than Chennai.

A)

C)

Positive degree B) Comparative degree

Superlative degree D}. No.né of these. .

199. Identify the Superlative degree :

A)
B)
C)

D)

i~

The ants are more industrious than any other animals
Chennai is one of the biggest Indian cities
Kala is faster than Mala

Very few girls in the class are as fast as Kala.

200. Identify the Positive degree :

A)
B)
<)

D)

«[12002 |

Very few towns in India are as rich as Mumbai

Mumbai is richer than most other towns in India

-

Mumbal is the richest town in India

Mumbai is richer than Chennai.
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